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Hypothesis and Research Design :

The object of this work ig to evaluate as
precisely as possible the proficiency in English
of the first year Arts undergraduates of Solapur
Region. 'There is a general feeling that the first
year Arts undergraduates these days are very
deficient in their knowledge of English. One
often hear remarks like 'they are incapable of
writing a single correct sentence in English',

Th is charge is clearly vague and does not tell
us anything precisely about either their

deficiencies or their strengths.

The hypothesis of this investigation was
that the first year Arts undergraduates of Solapur
region largely fail to attain the standards that
they are expected to attain, In order to test
this hypothesis the following research design

was evolved.

Design

A test of attainments of the first year Arts

undergraduate of Solapur region was planned to be



as comprehensive as possible covering the important
aspects of language ability. It was decided to
test the size of vocabulary, structures, Reading
comprehension and pronunciatiom including stress,
weak forms and intonatiom. The test evolved thus
was designed to assess their overall language
ability. The present investigation was expected
to provide a rough estimate of the first year Arts
undergraduates of Solapur region and their language

equipment.

An elaborate battery of tests comprising
items to test a large part of the prescribed
vocabulary and certain proven items for testing
the overall language ability was constructed. The
test was administered to a sizeable, stratified
representative sample of the first year Arts
undergraduates of Solapur region of shivaji
University of the year 1992, The findings of the

investigation are reported in this work,



Me th odo lo‘!

Both for written and spoken English the test
was designed to evaluate language skills of the
students. The vocabulary test was designed to
test mainly active vocabulary and the items such
as £1ill in the blanks and multiple choice were
given. For testing grammatical structures items
set were supposed to test the areas of grammar
such as question forms, tag questions, tense forms,
use of prepositions and modal auxiliaries etc. In
the reading comprehension test a passage was given
and questions were asked on the basis of what is
stated or implied in the passage. To test the
over-all language ability of the students a passage
was given for cloze test im which twenty blanks

were I pt.

For spoken Fnglish test, the items were given
to test sound discrimination, word stress, weak
forms, and intonation. For the sound discrimination,
twenty pairs of words were given and the students

were asked to read the pairs of words aloumd.



T is was to see if they could make sound

discrimination between two words recognizing/using
correct vowels as well as consonant sounds. In the
word stress test, thirty words were given for loud
reading. To test the weak forms ten sentences were
given and they were asked to read them aloud. And
in the intonation test twenty sentences were given
for reading aloud so that their use of tomes would

be tested.

Testing language Proficiency

The proficiency test thus designed measures
what students have learned and its aim usually is
to determine whether the ability displayed by the
testees in the test corresponds to specific language
requirements. The test has pre-~determined set of
the following categories with the weightage in

terms of marks shown against them.



Sr .No. Category Lhrku._
1) The use of vocabulary items .o 20
2) The use of structural components .. 20
3) Reading comprehension .o 10
4) Cloze test . .o 20
5) sound diserimination .. .o 20
6) Wword stress .o . 30
7) Sentences for weak forms .o 10
8) Sentences tor intonation .o 20
Total .:.;.;5--

Out of 150 items almost all the items are of
multiple choice type designed to elicit specific
responses from the students. In all (100) hundred
F.Y.B.A. students from Solapur region of shivaji

University took the test.

2.4 Subjects and procedure @

The test was administered to the first year
Arts undergraduates of Solapur region of Shivaji

University. 7Ten colleges were selected to cover



the total district and the test was given to the

randomly selected ten students from each of the

following colleges :-

Sr .No.,

1.
2.
3.
4.
Se

6.
7.
8.

AN Uk A G S S S W . S D i G G WD D S WD W Wn GED SIS R S Y S AU G G G Y S S G e B S

Name of the College
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Shri.sant Damaji Mahavidyalaya, Mangalwedha,
Sangola College, Sangola.

Pandharpur College, Pandharpur.

shankarrao Mohite Mahavidyalaya, Akluj

D.B.F.Dayanand College of Arts & Scilence,
Solapur.

Chhatrapati shivaji Night College, Solapur.
Deshbhakt Sambhaji Garad Mihavidyalaya, Mohol.
Arts and Commerce COllege, Macdha.

shriman Bhausaheb gadbuke Mihavidyalaya,
Barshi.

Yashwantrao Chavan College, Karmala.

T A A WA S W N e A S B R T IR WD D W G R S Gue G WS A A U W S S G S S e S e

The written test of forty five minutes

duration was administered at different times fron

October 1991 to February 1992 and from the above

mentioned ten colleges hundred samples were

collected. At the same time, simultaneously

spoken test samples were also recorded.,



It will be noticed that out of 16 Arts
Colleges from the Solapur district as many as 10
colleges have been represented in our sample. The
scatter of these colleges over the geograrhical

area is shown in the figure No.li.

Solapur District with colleges plotted.
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Thus it is clear that our sample satisfies
the major conditions for being considered as: a
stratified random sample representative of the
student population i.e. the Solapur district

F.Y.B.A. students.



2.5.1

The resulis obtained on the basis of the
test could be used for making general statements
regarding the language ability of the first year

Arts undergraduates of Solapur region as a whole.

Results And Discussion of Writing skillg :-

Vocabulary :

Oxford Advanced learner's Dictionary of
Current English by A. S. Hornby defines vocabulary
" as a total number of words which make up to a
language words known to, or used by a person in a
trade, profession etc .9*' New webster's Dictionary
of the English language defines vocabulary “as the
stock or words used by a people, or by a particular
class Oor person, a list or collection of the words
of a language, book, author branch of science Or
l1ike usually in alphabetical order and defined the
words of a language a word-book glossary, dictionary
or lexicon, the sum or scope of one's expressive

techniques as in the artsl.o"



While selecting the items for the students
at B.A.I level, it is believed that the words fronm
the General Service List are supposed to have been
covered by the students. In this test what is aimed
at is to assess thelr ability to recognize the
meaning of the words in meaningful contexts: Most
of these words are in ‘General Service List' that
is a head word, and all its most frequent connotative

meanings.

Vocabulary test -- Section -- I (A)

In this section the item consists of an
incomplote sentence. Below the sentence are 3
choices. And the students were asked to find the
one choice which best completes the sentence and

marks the answer with a tick mark.

The following is the list of correct answers :-

i. recognize, 2. steep, 3. vary,
4. agony S. frantically 6. deceptive,
7. soatter, 8. 1impressive, 9. accommodate,

10 o‘nag'.ont .



Jtem NO. 1

Choices

Ateu No. 2

Choices

Jtem No. 3

-

Cholices

Item NO, 4

Choices

Jtem No, 8

Cholces

[ ]

I was able t0 —--vvwe- my friend

though I met him after many years.
(a) see (b) recognize, {(c) reach,
is answered correctly by 424 students.
The sides of the mountain are very

- —— and therefore difficult
to climb.

(a) steep (b) plain (c) reach

is answered correctly by 574 students.
Prices =----~ - from shop to shop

in this city.

(a) rise (b) fall {¢) vary

is answered correctly by 23% students.

He could not bear the ------ of

separation,
(a) agony (b) happiness (c) honesty
is answered correctly by 294 students.

The drowning man wag ----~ shouting

for he 1pc

(a) anxiously <{b) frantically
{c) hovesty,

is answered correctly by 40% students.



Jtem No. 6

Choices

Item No., 7

Choices

Tten NO . 8

mman—

Choices

Item No, 9

Choices

Item NO. 10

Choices

-4

-

*”»

Don't go by looks, appearances

are often ~-=-w--

(a) deceptive (b) lovely
(c) interesting.

is answered correctly by 43% students.

The police had to fire several tear

gas shellg to ~-w-ww-= the mob.

(a) attroet (b) collect {c) scatter

is answered correctly by 524 students.

He is a good writer and a very ----- -

s peaker .

(a) impressive (b) talkative
(c) regular.

is answered correctly by 73% students.

The examination hall can easily ~----~

ten more candidates.

(a) arrange (b) accommodate
(c) contorm

18 answered correctly by 184 students.

what this Departmental Store needs
is a stronger --==--- -
(a) stock (b) resolution (c) management

is answered correctly by 59% students.



Itenm-wise marks

. G 5 M W e e S W S S R W S Nl SR WS W S W EED AN WSS W T SR R RED AR D W AN Bee SR M b M R AR N M GER S N A W FUS M W S S L e

Item Nos. : | 2 3 4 5 6 7T 8 9 10
Answered
correctly 42 5T 23 29 40 43 32 73 18 59

(out of €100)

e e ST SN e W G G e GED W E O IS R LS S D G U A S D VIR G A I TS G N G MNP TS N WS D GED AN W G G IS S W e W W G R T WD e e

The chart shows that the hi@)est.number of students
find the item No.8 the easiesnt as it is answered correctly
by 73% students and Item No.9, the mosgt diffricult as it
is answered correctly by only 18% students. Similarly,
Items NO.3 & 4 were difficult to answer as these were
anawered correctly by 23% and 29% students respectively.
Item Nos. 1,5 and 6 were neither difficult nor easy for
the students as these were answered correctly by 424,
40% and 43% respectively. Items No.2, T and 10 were
rather easy for them as these were answered correctly
by 574, 52% and 59 respectively. It will be seen from
the chart that the word ‘accommodate' is quite difficult
for the students and the saue case is with words such as
'vary'® and 'agony'. The averauge students have tae
knowledge of the words like 'recognize', 'frantically’',
‘deceptive ! and it is seen from the result sheet that
the words like ‘'steep', 'scatter','impressive' and

‘management' are quite familiar to them.
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It will Le seen from the above division that
404 students are ir the tupper group, 304 in the
middle group ané 29% in the lower group. This
showg that 60% students are in the middle and

lower group.

Vocabulary Test Section-I (B)

In the second section of ten items in each
sentence 0f this section the word is underlined.
Below each sentence nre ? choices. Te students
werec asked to choogse the one which would be a

substitute for the underlined word.



The following is the list of correct answers.
11 NOticQ’ 12 Make kno'ﬂ' 13. “nt, 14. Sad,
15. Courage, 16. have a strong wish, 17. Complain,

18. Copy the behaviour of, 19, tired, 20.entertainment.

L4

Item No. 11 : She noted that his hands were dirty.

Choices : (a) notice (b) write down (c) hate

is answered correctly by 35% students.

Item No, 12 3 The doctor did not reveal to her his

hopeless condition.

Choices

[ 1]

(a) make known (¥) display (c) show.

is answered correctly by 24% students.

Item No. 13 ¢ I wish there to be no misunderstanding

on hig matter.

dz) argue (b) say (c) want.

-

Choices

Jtem Mo. 14

L2 ]

Don't look on the dark side of things
Choices $ {a) black (b) sad {c) unclear
is answered correctly by 224 students.

Item No, 15 3 He is a man of great enterprise

Choices : {(a) courage (b) understanding

(c) honesty

is answered correctly by 45% students.



Item No. 18

Choices

Item Ho. i7

Choices

Jtem No. 18

Chvices

Jtem No, 19

Choices

Item NoO, 20

Choilces

L2 d

»

We are all dying for a drink.

(a) become weak (b) come to the
end of lite (c) have a strong wish.

is answered correctly by 214 students.

Me grumbled at the low salary offercd
to hinm,

{a) complain (b) make a sound
{(c) refuse.

is answered correctly by 304 students.
You should Imitate great men

{a) decetive (b) copy the behaviour of
(¢ ) mimic

is answered correctly by 554 students.

At the end of the game the players
were exhaugted.

(a) cheered (b) honoured (c) tired

is answered correctly by 554 students.

Bill couldn't hide his amusecdsent at

his folligh= mistakes.

(a) anger (b) entertainment
{c) nappiness.
is answered correctly by 314 students.
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Item Nos. 11 12 13 14 15 16 17 18 19 20
Answered
correctly 55 24 55 22 45 21 30 55 55 31

(out or 100)

The result sheet shows that the students found item Nos.12,
14, 16, 17 and 20 difficalt. Item Nos. 11, 13, 15, 18,
and 19 were rather easy for them. It will be seen from
the above result sheet that most of the students could

not gubstitute 'reveal' by ‘make known' 'dark' by 'sad’
'dying' by ‘have a strung wigh' 'grumbled' by ‘complain'
anusement' by ‘'entertainment' in tie contexts povided.

Oz the contrary, they had no difticulty in identifying

the substitutes for noted by 'notice', wish by 'want'
enterprise by'courage; imitate by'copy the behaviour of'

and exhausted by 'tired!

vocabulary Test Result into 3 sub-aronps.

“Upper Growp Middle Group Lower Group
(above 50) ( 40 to 50 (below 40)
55 43 31
55 - 30
55 - 24
55 - 22

- - 21



2.5.2

In this result sheet the students are grouped into
three groups namely (1) upper group (2) Middle group
and (3) Lower Group. It will be noticed from the
chart that 40% students are in the upper group, 10¢
in the middle group and 50% in the lower group. Again
the majority of the students are placed in the lower

group.

Structure

It is believed that by the time the students come
to B.A.I, they would have learnt all the essential
structures of English. Menon and Patel (1957) suggest
that the essential structures of English s ould be
taught within the first four years. In 1964, A.E.
Subramanian claimed that exper ienced teachers found
it possible to teach the essential structures of

English in the first four years of English.,

In the seminar on text books held at the central
institute of English and foreign langmgen'. Hydrabad
in December 1972, George proposed that, "The essential
principles of English sentence structure should be

taught alongwith the first thousand to fifteen hundred
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(1000 to 1500) words selected for the teaching.

B.A. I Students have studied FEnglish for eicht
years. And it is taken for granted that they have
masgtered all the essential structures of English.
That is vhy, vhile selecting the items thewes isi.ho

restriction of the limited struc tures.

In this structure test twenty items were
selected. Each problem in th is section consists of
an incomplete sentence. ‘Three words mrked A.B.C.
were given neneath fhre sentence and the students were
asited tu chovse the One word that best completes the
sentence. The items set are supposed to have the
following areas of grammar, question fora, tag
questions, tense forms, use of prepositions, modaql

auxiliaries etc.

The correct answer.s are as follows s~
21 . have, 22. since, 23. hasa't she, 24. will,
25. had %nown, 26. speak, 27. d0, 28, could, 29. ever,
36, theirs, 3t . as high to, 32. do you, 33. for,
34. their, 35, to, 38. would have, 37. he is doing,

38. to sleep, 39. anything, 40. if 1 will be late



ITtem NO, 21

Choices

Item No, 22

Cholces

item No. 23

Chofces

Jtem No, 24

Choices

Item No. 25 3

Chojces

item No. 28

Choices

- you ever been to Mdras ?

(a) were (b) d14 (c) have
is answered correctly by 3554 students.

let's go to the cinema. I haven't

seer a filg ~ccvwea 1980,

(a) tor (b) since (o) till
is amnswered correctly by 524 sgtudents.

She has lovely eyesy =====-~- ?

() 1sn't 1t (b) doesn't it
(c) hasn't she.

is answered correctly by 74% students.

nless you work hard, you ----- pot

pass the examination.

(a) will (b) should (c) shall.

is answered correctly by 47¢ students.

¥ I ===-== about the test I would have
comp prepared.

(a) have knowm (b) had known

(c) was kaowing

is answered corroctly by 424 students.
Does your mother =----- English ?

(a) speak (b) speaks (c) snoken.

is answered correctly by 45% students.



Item No. 27

Choices

Jtem No. 28

Choices

Jtem No, 28

1tem No, 30

Choices

Jtem NG, :1!_

Choices

Item No. 32

Choices

Item No, 33

Choices

H

L 1
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HOw many novels =----- you read a month ?

(a) have (b) are (c) do

is answereé correctly by 18% students.
then I was young 1 ----- dznce very well.

() could (b) should (e¢) can

is answered correctly by 45% students.

GCan't you =~---~=- ynderstand wvhat has

beaa sald.
(o) nevey (b) rathar (c) ever
is answered correctly by 34% students.

It's not our ball. It must be =—~-=~-

(a) thetr (b) theirs ({(c) there

is answered ccrrectly by 29% students.

in Nagpur the temperature raises =—=---=-

”
afi ¢, in supuer.

{2} as high 28 ‘b) so0 high as
{c}) as high to

is answered correctly by 374 students.
You don't know this lesson properly, =--- ?

(a) isu't 1t (b) do you (c) haven't you

ig angwered corractly bu 704 stiudents.
Fe was not qualiried ~---~ the job.

(a) to (b) for (c) im

is answered courrectly by 504 students.



Item NO.

Choices

Item NoO.

35

Choices

Item NoO.

Choices

Item NoO.

37

Choices

JItem No.

38

Choiccs

Item No.

39

Cholices

»

The crowd rushed forward to have a

glimpse of ~---ewew- leader.

(a) their (b) its (c) his.

is answered correctly by 614 students.

India is committed =~==~=w- the policy

of non-alighment.

(a) to (b) for (c) with

is answered correctly by 23% students.

If I had the choice;, I ======= stayed

(a) had (b) had had (c) would have
is answered correctly by 704 students.

Y asked him what ~==ce--

Ka) he has done (b) he is doing
(c) he had done.

is answered correctly by 36% students.
He took liking ---- the whole day.

{a) to sleep (b) to have slept
{c) to sleeping.

is answered correctly by 66% students.

He couldn't see -~-~--- as it was very dark.

(a) anything (b) nothing {(c) nonme.
is answered correctly by 53% students.
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Item No, 40 § «=---= don't wait for me.

Choices : (@) It I shall be late
(b) I I will be late
(¢c) I I am late.

is answered correctly by 314 students.

Item-wise marks.

T G GSh SR ENS WS D Sn WS TR MR A N M T W A A W S G YD B G T G WP Y T SN SRS S SN SO A T A S S S W S Y U S T S W T S W R W W S

Item NoOs. 21 22 23 24 285 26 27 28 29 30

Answered

Correctly 58 52 T4 4T 42 A8 18 45 34 29
(out ot

100)

T B S W IS e S S e R N G W S . G A S T AP GO G G e B s SO BN TR S e D BB 0 B B S W e T S SER GO G A B I G TR S Sl S T T A W

Item Nos. 31 32 33 34 35 36 37T 38 39 40

Answered

7g:§°§:17 37 70 50 61 23 70 36 66 53 31

The result sheet shows that the maximum and minimum
marks obtained were 744 and 18% respectively.

Structure Test Results into 3 sub-groups.

TS SIS G W D D G W S e R D G WY D Auh e S e e G SO T S R IR S A W U U W B G (S G S i G D G A D S G L B GO R o

Upper grou Middle group lower group
(above eoﬁ (between 45 to 60) (below 45)
T4 88 42
70 53 37
70 52 k]

1] 50 34
61 48 31
- 47 29

45 23



25% students belong to the 'Upper Group',
354 students to the 'Middle Group' amd 40% students
to the 'lLower Group'. This means 75% students belong to =
the middle and lower groups and only 254 students are
in the upper group. From these figures, we may
conclude that the students encounter problems in the

use of structures.

It is notioed that the tag question form is
easier for the students. There are two tag question
forms in the structure test items and these are
answered correctly by 74% and 704 students

respectively.

It is seen that the question forms are
difficult for the students. There are two basie
auxiliary tense forms and these are answered

correctly by 568% and 18% students respectively.

}'t is found that the modal auxiliary question
forms are nelther easy nor difficult for the students.
They are answered correctly by 474 and 45% students

respectively.



There are three questions on the use of
prepositions. They are answered correctly by 524,
504 and 23% students. The use of prepositions is

found to be somewhat dirficult for the students.

The students found the use of reflexive
pronouns somewhat difficult. There are two items
used in the structure test. They are answered

correctly by 297 and 61%s students.

The result indicates the use of degree is also
somewhat difficult for the students. ‘There are two
items in the struoture test. They are answered
correctly by 674 and 37% students. To conclude, we
can say that the following items were quite easy for
the students. Item NOs. 23, 32, 34, 36, 38. 'These
were answered correctly by 74% students, 70%, 61%,
T0%, 66% respectively. Om the contrary, the
following items were difficult for the students.
Item Nos. 27, 29, 30, 35, 37 and 40. These were
answered correctly by 18%, 34%, 29%, 23%,36%, & 31%

students respectively.



2.5.3

Read ing comprehension :

No two persons agree on the definition of
"reading comprehension”. Comprehension is a construct
i.e. it cannot be directly observed or measured. Each
one conveniently defines it according to what is most

suitable to him.

It 1is, for our purpose, defined as a complete
interactive and intellectual process involving a
number of abilities. The two major abilities involved
are 'word meanings' and ‘verbal reasoning' without
these two, there would be no reading comprehension
and subsequently without any reading comprehension

there would be no reading.

gbrhap-. it 1s not irrelevant to guote
Thorndike here. He Observed that "reading
(comprehension) is a very elaborate procedure,
involving a weighing of each of many elements in a
sentence, their organigation in the proper relation
one to another and the co-operation of ’uany forces to
determine final response”. Today, Investigators are

still exploring reading comprehension in attempts to



understand it better and through the years many have

expounded upon Thorndike ‘s theory.

*"pPgycholinguistics and cognitive psychology
have influenced relearoheé done on the process of
understanding the studies, however, are neither
conclusive nor comprehensive. It is not easy to say
that if a reader were to follow certain prescribed
rules, s/he would most assuredly have hetter
comprehension. What is evident from these researches
is the growing attention given to text structure and

reader .”

In this reading comprehension test a passage of
about 110 words was given which runs into 10 lines
and has nearly 9 difficult words. There is one
diffioult word after every 12 words. The students
were asked to read the passage carefully and answer
all the questions following the passage on the basis
of what is stated or implied in the passage. Ten
questions were framed on the basis of the passage.
Each item is followed by three choices marked (a),
(h); (c) and the students were asked t0 mark the

correct ch oice.
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Passage for Reading Comprehension

‘Do you ever thdmk of the rivers of India ?
They are our greatest natural assets. Aren't there
hundreds of them watering our land and making it green
and fertile ? Aren't they natural highways linking the
towns with the villages ? And isn't they great beauty
in them ? There is such variety too. There are
navigable rivers especially in Bengal and Kerala.
There are raging torrents which leap from the mountains
down to the deep gorges. There are huge rivers which
sometimes burst their banks and flood the side. And
in tribute to their strength and beauty. We have
always held them sacred. To love India is to love

her rivers, big and smll.,

Item-wise Marks.

Item NoOs. 41 42 43 44 45 48 4T 48 49 50

Answered

correctly T2 64 95 60 352 67 37T 19 38 35
(out ot

100)

Result sheet of the reading comprehension test
shows that maximum 95% and minimum 19% markfwezc

v

St s



The following are the correct answers given below.

41 . India's river, 42. hundreds of, 43. Bengal and

Kerala, 44. Mostly useful but sometimes harmful,

45. respected greatly, 46. anything valuable,

47. wvhere ships and boats can sail,

48. an opening between hillsg, 49. branch of a river,

50. something considered as religious.

Item No. 41 : Which of the following titles suit
the passage best ?

choices (a) Rivers and their uses

.

(b) Rivers and their dangers,
(c) Mmdia‘'s rivers,

is correctly answered by 724 students.

Ytem NO., 42 ¢ There are =------- rivers in India ?

Choices

(a) only a few (b) indefinite number of
(¢) hundreds of

is angwered correctly by 644 students.

Item NO. 43 ¢ Rivers imn which ships can sail are
mostly in -=-=--

choizes t (a) Bengal only
(b) Kerala only
(c) Bengal and Kerala

is answered correctly by 954 students.



Item NO. 44 : Rivers in India are ~------

Choices : (a) harmless and useful
(b) mostly useful but sometimes harmful,
(c) mostly harmful but sometimes useful.

is answered correctly by 604 students.

Item No. 45 ¢ Indian rivers are  =-==~--
Choices : (a) always flooded

(b) respected greatly,
{c) loved but not respected,

is answered correctly by 52% students.

Item No. 48 2 Choose the best explanation according
to the context ?

*"Agcais”

Choices ¢ (a) anything agreeable
(b) anyth ing valuable
(c) anyth ing desirable,

is answered correctly by 674 students.

Item No. 47 : 'Navigable'

Ch 00se t (o) where ships cnd boats can sail,

(b) wherec ships and boats can be
properly guided,

(c) where ships and boats can be
in danger

is answered correctly by 374 students.

H
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Item No., 48 : *George’'

Choices 1+ {(a) an opening between hills,
(b) a most beautiful hill side,
(c) waterfalls from high mountains,

is answered correctly by 198 students.

Item No. 49 7y ibute !

.5

Choices (a) branch of a river,

(b) payment extracted from another
governnent,

(c) something done to show admiration

is answered correctly by 364 students,

Item No, 50 2 ‘Sacred!

Choices : (a) something not to be shared with
others,

(b) someth ing considered as religious,
{c) scmething that is wmogt loveable,

1s answered correctly by 354 students.

R

Read inz cowmprehension result sheet shows that
out of ten items students ftound four the easiest and

four dirticult.
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Reading comprehension Test Results
into three sub-groups.

Upper Group Middle Group iower Group
(above 60) ( 40 te 60) (below 40)
4] 60 a7
72 52 36
67 - 33
64 - 19
404 204 404

404 students belong to upper group and 20%
to the alddle group and 40% to the lower group. In
general, the students found the test rather easy.
This might be because of the help of the passage.
Students answered the questions based on the passage
correctly. Te vocabulary used im this passage 1is
simple for the students and it is related to the
geograrh ieal terms. Only one word ‘gorge' which
means &n o)cuing between hills is unkmnown to the
students. Out of hundred (100) students just 19%

have answered it correctly.



2.5.4

We my conclude from the above analysis that the
Read ing Comprehension Test is neither easy nor
difricult for the students. However, considering the
level of learning the students were expected to do

better.

Cloze Test

In the cloze test portions of a written passage
are blanked out and the student is asked to provide
the missing words or words. The cloze technique is
becoming popular and useful as an overall language
proficiency test as well as a readinr comprehension

v
test. (Darnell 1968, Andersoa 1971, Jongsma 1971,

Oller 1972, Robinson 1972)

The term 'Cloze' was first used by Taylori’
(1953) to refer to a type or test originally designed
to measure the readability of a passage 0f prose. The
procedure was t0 select a reading passage and delete
every 7Tth word in it and renlace it with a blank
space. flhe students were required to complete the
passage by fillineg in the blanks with suitable words.

The average scOres over a large group of students



obtained in this test were used to measure the
readability or suitability of the passage fOr reading
at a given level. "The term 'cloze’ wmss used with the
notion of Gestalt's 'Closuu; in mind referring to the
natural human Psychological tendancy to fill in the
gaps in patterns. Initially the cloze procedure came
to be adopted as a tool for measuring the reading
comprehension 0f native students. Now it is being used
to measure not only comprehension but overall langmmge
ability also in the case of second language. Tis is
due to0 new ianterpreiations of the ratioumal behind
cloge procedure. ToO decode the message cloze procedure
requires the 1eader to construct the matilated language
pattern by m . king the most likely replacement in the
light of his language system and the granmatical and

semantic cues that are avaihbloi.hnderson 1971 )

From the discussions above it would appear
that the clozc technique holcs great promise for
testing overalil lunguage ability imclucing perhaps the
size of vocabulaxy. FOr using the cloze techmique to

assess the size 0f students vocabulary it would be



necessary to develop batteries of cloze tests

appropriate for different levels.

The cOrrect answers of the test given are as

followsg 3~

1. 1¢, 2. out 3. inside 4. a

5. a 6. twelve 7. woman's 8. and
9. station 10.sergeant 11. sergeant 12. and
13. the, 14 .me, 15. dinner 16 . mine,
17. a 18. be 19. woman's 20, not.

Passage for cloze test

Read the following passage carefully and £ill in the
blanks with appropriate word. Do not £ill more than

one word in each blank.

while Y was walking along the road, the other
day I happened to notice a small brown leather purse
lying on the pavement. I picked it up and opened-=----

to see if I could rfind ~----- the Owner 's name. There

was nothing ------ it except some small change and
meemee—- rather 0ld thotograth a picture of ~==w---
woman and a young girl about -----~-- years old, who
looked like the =-------- daughter. I put the

photograph back ==~-----took the puurse to the police



---------- where T handed it to the ------ in charge.
Before I left the ~==---- made a note of my name ~-~--
address in case the owner Of =~~==-w- purse wanted to
write and thank ~----==

That evening I went to have ----w-- with an
unc le and aunt of -===--- Tey had also invited
another person, «==—==—-== young woman, s0 that there
would -==we-= four people at table. Te young =------
face was familiar, but I could ------- remember

where I had seen it.

Item~-wise Marks.

Item Nog.  § 2 3 4 5 é 7 8 9 10

Answered

correctly 423 10 28 S 48 28 14 3 36 11
(out of

100)

Answered
correctly 18 &7 44 27 02 05 22 32 39 173
(out of

100)

- - -

The above result sheet shows that maximum marks

obtained were 73% and minimum 2%.



Jtem NO,., 1

Item NO. 2

Item No. 3

Yten No., 4

Item No. 5

Jtem No. &

Item No. T

Item No, 8

Item No., 9

Item N0.10

Item No.11
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Blank word 'It' is filled correctly
by 42% students.

Blank word ‘out' is filled correctly
by 104 students.

Blank word 'inside' is filled correctly
by 284 students.

Blank word ‘a' is filled correctly
by 5% students.

Blank word 'a' is filled correctly
by 48% students.

Blank word ‘twelve' is filled correctly
by 28% students.

Blank word ‘woman's' is rilled

correctly by 14% students.

Blank word 'and*' is filled correctly
by 314 students.

Blank word ‘'station' is filled correctly
by 36% students.

Blank word ‘sergeant' is filled correctly
by 364 students.

Blank word ‘sergeant' is filled correctly
by 18% stadents.



Item NO, 12

Item NO, 13

Item No. 14

Jtem NO, 15

Item No, 16

Item No, 17

Item No, 18

Item No, 19

Item No, 20

e 49 =--

Blank word ‘and' is filled correctly
by 574 students.

Blank word ‘the' is filled correctly
by 44% students.

Blank word 'me' is filled correctly
by 27% students.

Blank word ‘dincer' 4s filled correctly

by 2% students.

Blank word 'mine' is filled correctly
by 5% students.

Blank word 'a' is filled correctly
by 22% students.

Blank word 'be' is filled correctly
by 32% students.

Blank word ‘woman's' 1s filled

correctly by 394 students.

Blank word 'not?! is S$illed correctly
by 73% students.

Cloze Test Result into three sub-groups

Upper Group

{above 350)

73
57
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Middle Group Lower Group

{35 to 30) {below 35)
48 32
44 31



Upper Group Middle Group Lower Group
- 39 28
- 36 27
- - 22
- -- 18
-— - 14
- - 11
- - 10
- - (11,4
- - 0s
- - 02

105 Task Tess
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It will be seen from the above analysis that
10% students belong to the upper group, 23% students
to the middle group and 65%¢ students to the lower
group. The cloze test technigue is somewhat new to
the students. 70 the majority of the students it
was difficult one and majority of the students failed
in the cloze test. They failed im producing a

contextually meaningful word. The cloge test passage



is simple one but it is noticed that onut of 100
(hundred) students 35 haven't attempted this cloze
test. They fille¢ up the blanks randomly, without
paying much attention to the contextual meaning.
0f all the total written tests this cloze test is

somewhat new and difricult for the students.

0 =0 =0 =0=0~(=0=0~0=0



